SH6EE PTASHBRARETE
< BAROERFE—A—AZEEXETSH-ODOER >
A (Bifr - )
5 R EEERE
¥ &5 & i =
E 5 = LMFEEE (AR
PTALE
PTAEEE 1,701, 000 1,674,000 27,000
= B 1,701, 000 1,674, 000 27,000/ T AH250M x 124 B x £ #E# (567 A)
HEIREE 11,907, 000 11,718, 000 189, 000
= B 11,907, 000 11, 718, 000 189, 000[1 A B1, 750M x 124 B x &% (567.\)
WwWehE 474, 000 450, 000 24, 000 (R g A E SREMHEE (SEPREFHIRAEE) 265 000M
whhE 474,000 450, 000 24, 000 [t {b#p;E N4 BHE 209, 000
o e 5,360, 183 4, 883, 264 476,919
o e 5,360, 183 4, 883, 264 476, 919[FI FEEZEH S
BAE 2,000, 000 2,000, 000 0
AL 2,000, 000 2,000, 000 OHEREREEE LY
FEURA 99, 817 99, 736 81
FEURA 99, 817 99, 736 813 8&FB. /\F—F L
=1 it 21,542,000 20, 825, 000 717,000




ﬂxzsn

% H ($1_L :
%l AEE ad 3P g
H % ] =
b 15 B il LYFEE (AR
PTAZEE
BEE & 1,176, 800 1,123, 200 53, 600
E B’ E 1,176, 800 1,123, 200 53, 600
i3 & 250, 000 200, 000 50, 000
=R & 300, 000 300, 000 0[P T AILIRESFIRIKE
=5 B 50, 000 50, 000 0
B3 E 50, 000 50, 000 0
" % E 100, 000 100, 000 0|7—JILT LEFIRHRUEBELFK
FEAHARY
g & #H 100, 000 100, 000 0
BHEHERU EEE2KRPTAEASESE
w B 2 100, 000 100, 000 0
*r KR H 226, 800 223, 200 3, 600|% P EREE S THESERHE
HEIREE 19, 644, 000 19, 120, 000 524, 000
REEEE 7,044, 000 6, 520, 000 524, 000
=/m B 1,000,000 1,000,000 037 bMEREE. NATSYY FERESK. FEEaRE
& % & 20, 000 20, 000 0
FARAHARY EEBIREE/ A RELH. RBFERAHE
g & #H 1, 500, 000 1, 500, 000 0
EHEHERU BESAENEE. BEGERIEE. HEHRESNESE
w B 2 2, 300, 000 2,000, 000 300, 000
HEREAE 2,224,000 2,000, 000 224, 000 | &R ;& B BAE i &
EEE 300, 000 300, 000 0
HERIEEE 300, 000 300, 000 O EREERESE
& & 2, 300, 000 2, 300, 000 0
MEHAR 1,000,000{ 1,000,000 0| mEEARE
REREE 1, 300, 000 1, 300, 000 0[S FEBREME
EEEREE 10, 000, 000 10, 000, 000 0
8 & 3, 000, 000 3,000, 000 O|EBEENS I EIRES
=t & 7,000, 000 7,000, 000 O[EREENRIEE
T E & 721, 200 581, 800 139, 400
T iE & 721, 200 581, 800 139, 400
¥ g & 721,200 581, 800 139, 400
& B 21,542,000 20, 825, 000 717,000




